4 -1
2 1

-10

10


















AN




eigenvector

-10

5

10



/A;envector

5




-10

-5

eigenvector

10



4 -1
2 1

Eigenspace with
eigenvalue A =3

-10




eigenvector

-10

5

10



eigenvector

-10

10



-10

-5

eigenvector

10



4 -1
2 1

/

/

/

/

Eigenspace with
eigenvalue A = 2

-10

10



|

4 -1
2 1

] Not hermitian

A basis (but not
orthogonal)

-10

5 10



1 0
0 -1

-10

10












eigenvector

-10

— = E

10



eigenvector

-10

—~

5

10



eigenvector

-10

1=

10



55

Eigenspace with
eigenvalue A = 1

*—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—-—*

-10 -5 5 10




-10

-5

eigenvector Y

10



eigenvector

-10

-5

10



eigenvector A

-10

-5
A 4

10



1 0
0 -1

Eigenspace with
eigenvalue A = -1

-10

10



1 0 Hermitian *
0 -1

O]
[ 1 Eigenbasis (orthonormal)

-10 -5 ‘ I 5 10

Ui




0 1
1 0

-10

10






-10

10












eigenvector

/

-10

10



0 1
1 0

-10

-5

eigenvect

ir/

10



-10

eigenvector

10



0 1
1 0

»  Eigenspace with
eigenvalue A = 1

-10




-10

5

eigenvector

10



-10

eigenvector

10



0 1
1 0

eigenvector

-10

-5

10



Eigenspace with
eigenvalue A = -1

-10




0 1 | Hermitian /(
10| 4

\ /7

-10 -5 5 10




